10-YEAR VISION

Decade of Multiplication

10 100 1,000 10,000 100,000 1,000,000

1 VITAL MISSION:

"Empowering 6:4 Leaders, Encouraging 6:3 Disciples, Expecting a 6:7 Awakening"

WHAT DOES SUCCESS LOOK LIKE?

And the word of God continued to increase, and the number of the disciples multiplied greatly in Jerusalem (communities across the world), and a great many of the priests became obedient to the faith (Acts 6:7)

6:4 + 6:3 = 6:7

10 100 1,000 10,000 100,000 1,000,000

10 STRATEGIC LANGUAGES

Utilization of multiple resources and experiences for pastors and churches in at least 10 key languages

(*Praying the Psalms*, selected booklets, multi-lingual websites, multi-lingual conferences, multi-lingual symposiums, etc.)

1 10 100 1,000 10,000 100,000 ,000,000

100 POINTS OF STRATEGIC RESOURCING

- Serve 100 churches (per year) through on-location coaching and events for extraordinary prayer and Spirit-driven impact (6:3 - Renewal Coaches, prayer summits, etc.)
- Recruiting and mobilizing 100+ engaged and effective Regional Catalysts for the 6:4 Fellowship
- 100 pastoral couples per year in marriage mentoring and enrichment retreats
- 100 emerging leaders per year in an immersion experience (Brooklyn Tabernacle, etc.)

10 100 1,000 10,000 100,000 1,000,000

1,000 INDIVIDUALS PERSONALLY COACHED

- Coaching 1,000+ additional church leaders via
 The Praying Leader cohorts (virtual and in-person)
- Coaching 1,000+ additional church leaders and saints via our other coaching offerings (6:3 Guideposts, Glorious Finish, etc.)
- 1000+ new monthly support partners

100 1,000 10,000 100,000 1,000,000

10,000 RELATIONAL ENGAGEMENTS

- Welcoming, resourcing, and connecting10,000 church leaders through The 6:4 Fellowship
- Maintaining an active list of 10,000+
 "Monday Motivator" subscribers
- Maintaining 10,000 active users of the SR app
- 10,000 additional social media followers

10 100 1,000 **10,000** 100,000

100,000 WEEKLY INFLUENCED

100,000 engaged pastors and disciples across the world, growing the root system of revival

6:4 + 6:3 = 6:7

(Avg. church attendance, social media, app, etc.)

1,000 10,000 100,000 1,000,000

100

1,000,000 AND BEYOND

- 1,000,000 souls being influenced by the vision of **6:4+ 6:3 = 6:7** for supernatural gospel impact (100K people influencing 10 people average)
- Growing the root system of revival and awakening ("no fruits without roots")
- \$1,000,000+ in legacy giving commitments or grant funds
- \$5,000,000 in endowment funds by 2030

1 10 100 1,000 10,000 100,000 1,000,000

TO FOCUS OUR EFFORTS TOWARD THIS VISION WE HAVE EMBRACED FIVE VITAL PRIORITIES FOR OUR ONGOING ANNUAL MINISTRY EFFORTS.

- EXPANSION OF OUR COACHING FOR CHURCH LEADERS
- DEEPENING OF LIFE-GIVING RELATIONSHIPS AMONG 6:4 PASTORS
- STRENGTHENING OF OUR MINISTRY
 TO THE PERSON IN THE PEW
- INVESTMENT IN A NEW GENERATION OF CHURCH LEADERS
- ENLARGEMENT OF OUR INTERNATIONAL IMPACT

1.000.



STRATEGIC RENEWAL

